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Chapter 4

Section 4.4 The Quadratic Formula Quadratic Equations

Name:

Date:

Given an equation in standard form, another method to solve is the quadratic formula.

2. 0N
_ A 2z _ C —A
x——\o—«‘b 40 b*-4gc > o
L’—\\_)
20 S
discriminarry
L O =0
_ > \/NN_) \"\_)
\d 0% +bxtlC O SORUTIoNS 1 soluhian
. Given a quadratic equation, identify the number of
Learning Goal 4.1 solutions, zeros, roots or x — intercepts.

Example Use the discriminant to determine the nature of the roots for each quadratic equation, then solve

a. 3x2+4x+i=0 b. 2x?—-8x= -9
) 3 2%*-8>+9 =0
b*-4ac - &)Y - 4 4
\l: L%K—;D b*- 4ac = (-3)-4(@)a)
Tl - lb -
= __]Z
-5 ] o4
O =-%
- _\\ + 2. )
=-B*lp*=Hac = no veal Solutions:
2.0
2(%)
o
o
=-Z
3
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Chapter 4

Section 4.4 The Quadratic Formula Quadratic Equations

Given a quadratic equation, find the values of
Learning Goal 4.2 i

solution(s) by factoring, completing the square or using
the quadratic formula.

Example Determine the roots for each equation. Express exact answers

e .

a. t2 ﬁ(+ b. 3x2+5x—2=0
Y 2s L
Q t—5=0 5

\

b*-dac = (307 - 4(3)=2)
t?-4¢-0=-0 4 4 = 25% 24
bZ 40c = -92-400) I8y 20 d = 44 = 2 Solutions
b0 | ~=-vxlb?-4ac
= Bb = 2 Soluhons —
= -bx-o"-4ac =-(=)2Jaa’
2a a 2(2) \
_&—4) ' M -x\=_5+‘1 x, = 5 -1
20V © L
e -2 o) T2
b 3 v
Example Solve 6x~ — 14x + 8 = 0 by factoring, completing the square and by the quadratic formula
@) Factoring @ Comp\ehﬂg (3 Quadrotic Tormula.
7‘(?’7&;’775*4)—'0 « z=-v* {b*-4ac
2 (- Bz -4=z44)-0 X —ng © 20
S o O I P ]
2[ 3 (-1 -4(-1) ] -0 o) -5 30 =y Joar-4low
2(e-Nz> -4) =0 b(z>- 3%_1 + 22 “;2 +8)=0 2 ) |
[ N = 14:\ap-192
v LD *- — 4q - 4’q _j— =
x-\ =0 2x-4-=0 (-x 3Z+ gév —(0_*‘4(0 © 2
- 3 = = +
2=\ 1_4 blx-1)2 | -0 4 tJ4
=3 o L 2
2 blz-22Y = L T4t
b © \2
2 RY
\x-1)" =L _uer x-@2
b = 12
=T =2
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